BHARAT COKING COAL LTD. (A Subsidiary of Coal India Ltd.) OFFICE OF THE GENERAL MANAGER LODNA AREA

Ref: No. BCCL/LA/Civil/NIT/09-10/

Dated:- .04.02.10

NOTICE INVITING TENDER

Sealed percentage rate tender in two parts (Part 'A'& part 'B') are invited from the experienced , and eligible contractors for the following work.

SL No.	Name of work	Estimated Cost (Approved)	Earnest Money	Cost of tender Paper	Time of completion
1	Estimate for PCC Road from Digwadih weigh bridge to Bhulan Bararee magazine under Lodna Area		4986.00	250.00	30 days
2	Construction of Latrine and Bathroom including shed PCC at VTC Jealgora under Lodna Area	4,91,854.44	4919.00	250.00	30 days

- 1. <u>Availability of Tender documents:-</u> Tender document can be had from the office of the General manager, BCCL, Lodna Area, Lodna Area civil Engineering Department, P.O. Khas Jeenagora, dist. Dhanbad from 17.02.10 to 18.02.10 on deposition of requisite cost of tender paper in form of cash or Bank Draft of Nationalised bank in favour of Bharat Coking Coal Ltd. Payable at Dhanbad during office hours on all working days. In the event of the specified date for submission of bids being declared a holiday, the bid will be received /opened on the appointed on the next working day.
- 2. <u>Receipt Tender :-</u> The tender will be received on 20.02.10 upto 3.00 P.M. at Civil Engg. Deptt. Lodna Area, P.O. Khas jeenagora, Dist. Dhanbad. Complete sealed tender document (Part "A"& Part "B") should be submitted at the same time. Part 'A' shall consist of any deviation from terms and conditions of the tender and additional terms and condition if asked for, technical bid and credentials. Part "B' shall consist of tender documents as sold to the Tenderers duly filling in rates, amounts etc. i.e. price bid. The earnest money deposit is to be submitted in a separate envelope altogether super scribing "Earnest Money Deposit" and not inside the envelope containing part-"A" or part-"B' of the Bid. The part -"A" & part-"B" should also be put into separate sealed envelopes superscribed as such. Thereafter all the three envelopes should be submitted in a sealed envelope with appropriate superscription.
- 4. <u>Opening of Tender :-</u> The Tender will be opened at 3.00 P.M. on 20.02.10 itself in presence of the intending Tenderers or their authorized representative in the office of the civil Engg. Deptt. Only Part –A will be opened and part 'B' will be opened only after acceptance of Part-'A'

1) Eligibility Criteria :-

The intending tender must have in its name as prime contractor experience of having successfully completed similar work during 7 (seven) years ending last day of the ,month previous to the one in which bid application are invited (i.e. eligibility period) should be either of the following :-

Three similar completed works is costing no less than the amount equal to 40 % of the estimated cost.

OR

Two similar completed work is costing lo less than the amount equal to 50% of the estimated cost.

OR

One similar completed work is costing lo less than the amount equal to 80% of the estimated cost.

Similar Work means : S.No. 1 Concrete Road work S.No. 2 Building work.

(b) Average annual financial turn over of civil works during the last three years ending 31^{st} March of the pervious financial year should be at least 30% of the estimated cost.

The intending Tenderers must submit documentary evidence in support of (4) (a) and (b) above in the form of certified copy of work order, completion certificate, payment certificates. vouchers, indicating the

Duly signed by him/them.

- 5) In case where tender documents are requested for transmission by post, these should be dispatched A.D. The department is not responsible for any postal delay in such cases.
- 6) The earnest money is to be deposit as per detail given in the tender documents.
- 7) Sales Tax clearance certificate copy attested by Gazetted Officer of the Govt. (Central or State) & TIN no.
- 8) The Tenderers have to submit Permanent Account No. of Income Tax (PAN No).
- 9) Conditional tenders will not be accepted.
- 10) Issuance of tender documents does not mean that the parties are considered qualified.

Contd. P/2

- 11) The Experience as given in the eligibility criteria should be in the name and style in which tender is filled. The experience in the name of some other firm/company will not be considered for this purpose.
- 12) The validity of the tender will be 120 days from the date of opening price bid or revised Price bid, if any.
- 13) The management of BCCL reserves right to reject any or all tender or split the work among two or more Tenderers with out assigning any reasons whatsoever.
- 14) Other details may be obtained from tender notice/tender documents

NIT Def No DCCL /LA/Civil/NIT/2000/

- 15) Tenderers are required to deposit along with their tender, a bank Draft of any nationalized / Schedule Commercial bank payable at Dhanbad <u>exclusively</u> towards the cost of Tender Document for the amount indicated as above, in a separate envelope. Any bank Draft, prepared after the scheduled closured of sale of Tender Documents i.e. 18.02.10 may be liable for rejection.
- 16) The contents of the Tender Documents available for sale in our offices, shall be deemed as authenticated and the responsibility of errors and omissions in the downloaded documents will lie with Tenderers.

Name of work	Estimated Cost (Approved)	Earnest Money	Cost of tender Paper	Time of completion
Estimate for PCC Road from Digwadih weigh bridge to Bhulan Bararee magazine under Lodna Area	4,98,523.02	4986.00	250.00	30 days
Construction of Latrine and Bathroom including shed PCC at VTC Jealgora under Lodna Area	4,91,854.44	4919.00	250.00	30 days
All other details i.e. Estimate cost of the work, Website <u>www.cmpdil.co.in</u> The sale period for the tender document : From Date of receipt & opening of tender on 20.02.10	17.02.10. to 18.02.	10		en on company

Copy to :-

- 1) All CGMs/Gms, Areas of BCCL.
- 2) GM (System), BCCL for logging of N.I.T. Tender Document & BOQ on Website.
- 3) C.V.O., BCCL. Koyla Bhawan
- 4) General Manager (Constn), CED.BCCL. Koyla Nagar
- 5) Addl. G.M/A.F.M., Lodna Area
- 6) TCM, / SE(C), Lodna Area
- 7) All Project Officers, Lodna Area- For display in Notice Board.
- 8) P.R.O. BCCL
- 9) Notice Board, Lodna Area 10) Office copy / M. copy.

Area Civil Engineer Lodna Area

Data: 04.02.10

BHARAT COKING COAL LIMITED (A subsidiary of Coal India Limited) OFFICE OF THE GENERAL MANAGER LODNA AREA

PART "A" (Serial 1)

1.	Name of work	:-		CC Road from Digwadih weigh bridge to Bhulan zine under Lodna Area
2	Name of contractor	:-		
	Adress	:-		
3.	N.I.T. Reference	:-	BCCL/LA/Civ Dated : 04.02.	vil/NIT/09-10/ 10
4	Date of receipt of tender	:-	UP to 3.00 P.1	M. on 20.02.10
5	Date of open of Tender	:-	at 3.30 P.M. o	n 20.02.10
6	Details of E.M.D.	:-	No.	Dated:
7	Money Receipt No.	:-	No.	Dated:
	(for issue of tender paper)	:-		
8	Photocopy of PAN	:-		
9	Credential against experience	ce:-		

SIGNATURE OF ISSUING OFFICER

DECLARATION

I hereby declare that my / our firm has not been banned or de-listed by any Government or Quassi Government agencies or PSU's

Signature of the Tenderer With Seal/Mohar

PART-B PRICE BID Sl.NO.1

Issued to the Tenderer _____ Vide M/R No. For Rs. 250/-

Date:-

Sign. Of Issuing authority-----

Bill of quantity for the work of "Estimate for PCC Road from Digwadih weigh bridge to Bhulan Bararee magazine under Lodna Area.

Sl	Particulars	Qnty	Unit	Rate	Amount
No.					
1.	Earth working in excavation by mechanical means (hydraulic excavator) manual mean in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including getting out the excavated soil and disposal of surplus excavated soil as directed ,within a lead of 50m.All kinds of soil	151.66	Cum	101.85	15446.57
2	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering – All work upto plinth level. 1:4:8 (1cement :3 coarse sand 6: graded stone aggregate 40mm nominal size)	66.73	Cum	2296.15	153222.08
3	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering – All work upto plinth level.1:2:4 (1cement :1 coarse sand 2: 4stone aggregate)	101.10	Cum	3194.10	322923.51
4	Filling available excavated earth excluding in trenches rock plinth side foundation etc	151.66	Cum	45.70	6930.86
				Total	4,98,523.00

Compared By :-

I we quote ______ % (rate for the above items.) on above / below basis or as per on the estimate

Name of Contractor :-

Signature of contractor Seal& Date

BHARAT COKING COAL LIMITED (A subsidiary of Coal India Limited) OFFICE OF THE GENERAL MANAGER LODNA AREA

PART "A" (Serial 2)

1. Name of work	:-	Construction of Latrine and Bathroom including shed PCC at VTC Jealgora under Lodna Area
3 Name of contractor	:-	
Adress	:-	
3. N.I.T. Reference	:-	BCCL/LA/Civil/NIT/09-10/ Dated : 04.02.10
4 Date of receipt of tender	:-	UP to 3.00 P.M. on 20.02.10
5 Date of open of Tender	:-	at 3.30 P.M. on 20.02.10
6 Details of E.M.D.	:-	No. Dated:
7 Money Receipt No.	:-	No. Dated:
(for issue of tender paper)	:-	
10Photocopy of PAN11 Credential against experience	ce:-	:-

SIGNATURE OF ISSUING OFFICER

DECLARATION

I hereby declare that my / our firm has not been banned or de-listed by any Government or Quassi Government agencies or PSU's

Signature of the Tenderer With Seal/Mohar

PART-B PRICE BID SI.NO.2

Issued to the Tenderer _____ Vide M/R No. For Rs. 250/-

Date:-

Sign. Of Issuing authority-----

Bill of quantity for the work of "Construction of Latrine and Bathroom including shed PCC at VTC Jealgora under Lodna Area

Sl	Particulars	Qnty	Unit	Rate	Amount
No.					
1.	Earth working in excavation by mechanical means (hydraulic excavator) manual mean in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including getting out the excavated soil and disposal of surplus excavated soil as directed ,within a lead of 50m.All kinds of soil	98.50	Cum	101.85	10032.22
2	Brick flat soiling	137.10	Sqm	92.82	12725.62
3	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering – All work upto plinth level.1:4:9 (1cement :3 coarse sand 6: graded stone aggregate 40mm nominal size)	24.85	Cum	2.296.15	57059.32
4	Brick work with F.P.S. brick of class designation 75 in superstructure above plinth level up to floor V level in all shapes and sizes in .cement mortar 1:6(1 cement 6 coarse sand0	36.10	Cum	2007.00	72452.70
5	Brick work with F.P.S. brick of class designation 75 in superstructure above plinth level up to floor V level in all shapes and sizes in . cement mortar 1:6(1 cement 6 coarse sand0	25.50	Cum	2315.50	59045.25
6	Providing and laying damp proof course 1:2:4	8.21	Mtr	144.15	1183.47
7	Providing and fixing AC sheet	26.20	Sqm	294.95	7727.69
8	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15° , landings, balconies, shelves, chajias, lintels, bands, plain window sills, staircases and spiral stair cases upto floor five level excluding the cost of centring, shuttering, finishing and reinforcement with 1:2:4 (1 cement :2 coarse sand 4: grade stone aggregate 20 mm nominal size).	2.12	Cum	3673.85	7787.56
9	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete Cold twisted bar	170.00	Kg.	42.70	7259.00
10	Steel standard	1115.25	Kg	46.70	51691.83
11	12 mm cement plaster of mixes 1:6(1cement :6 fine sand)	237.00	Sqm	67.65	16033.05
12	12mm cement plaster finished with a floating coat of neat cement of mix.1:4 (1 cement: :4 fine sand)	78.65	Sqm	97.90	7699.83
13	25mm thick PS flooring	26.90	Sqm	106.15	2855.43
14	Earth filling	3.95	Sqm	45.70	180.51
15	Providing and fixing MS door	10.03	Sqm	1480.42	14845.61
16	White washing two or more coat	237.00	Sqm	6.75	1599.75
17	Providing and fixing G.I. sheet roofing	81.00	Sqm	432.25	35012.25
18	Providing and fixing wind tie 44x6	51.80	Mtr	73.65	3815.07
19	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering – All work upto plinth level.1:2:4 (1cement :2 coarse sand 4: graded stone aggregate 40mm nominal size)	32.95	cum	3194.10	105245.59
20	Painting one or more coat	20.07	Sqm	22.85	458.59
21	Providing and fixing WC pan	3.00	No.	534.60	1603.80
22	Providing and fixing foot rest	3.00	Pair	111.70	335.10
23	Providing, fixing P and S trape of 100	3.00	No.	442.10	1326.30

24	Providing, fixing Tee 100x100x75	3.00	No.	402.50	1207.50
25	Providing, fixing band of 100	2.00	No.	222.45	444.90
26	Providing, fixing junction 100x100x100x100	1.00	No.	473.35	473.35
27	Providing and fixing set soil pipe of 100 dia	7.00	Mtr	451.00	3157.00
28	Providing and fixing SCI Pipe 75	6.00	Mtr	395.45	2372.70
29	Providing and fixing wash basin	3.00	No.	705.90	2117.70
30	Providing and fixing urinal	3.00	No.	578.95	1736.85
31	Providing and fixing 600x450+ mirror	3.00	No.	493.65	1480.95
32	Providing and fixing towel rail	3.00	No.	294.65	883.95
				Total	4,91,854.44

Compared By :-I we quote ______ % (rate for the above items.

) on above / below basis or as per on the estimate

Name of Contractor :-

Signature of contractor Seal& Date